ol

@ 2.028 3 3.06 @ 5.820 B 4.302

@D 0.008



(1) 0.14+08 (2) 0.3+0.5

@ (1)0.7 (2) 0.8
® (1) 0.9 (2) 0.9

® (1) 0.7 (2) 0.9







4.

[ ] qtell oo 5 At vt2 A HE2 AS T2A Q.

(1) 20572t 0.001 2 5[ [9Ych
(2) 0.249 2t} 0.01 Z2 $=[ [yt

@ (1) 2.058 (2) 0.248 @ (1) 2.058 (2) 0.239
@ (1) 2.058 (2) 0.139 @ (1) 2.067 (2) 0.248

® (1) 2.067 (2) 0.239



(1) 0.2+0.5 (2) 0.3+0.7

@ (1) 0.2 (2) 0.4 @ (1)02(2)1
® (1) 0.7 (2) 0.4 @ (1)0.7(2)1
® (1) 0.7 (2) 1.01



O HFEA AlASHA L.

(1)02-0.1 (2)0.8-0.6

@ (1) 0.1 (2) 0.2 @ (1) 0.1 (2) 1.5
® (1) 0.3 (2) 0.15 @ (1)0.3(2) 0.3

® (1)0.3(2) 1.5



o2 A AN AL DEAL.

(1) 0.71+0.37  (2) 0.04 +0.25

@ (1) 1.08 (2) 0.29 @ (1) 1.08 (2) 0.21
® (1) 1.08 (2) 0.19 @ (1) 0.98 (2) 0.29

® (1) 0.98 (2) 0.21




8. AZo] WmiAS ul2 A AL AL 12X Q.

(1) 0.78 - 0.17  (2) 0.48 —0.23

@ (1) 0.59 (2) 0.225 @ (1) 0.6 (2) 0.25
® (1) 0.61 (2) 0.25 @ (1) 0.61 (2) 0.35

® (1) 0.62 (2) 0.35






10. o= 2-olAM B4 got oyl Atelo] A= E oA 2

UMenrtY eny2¥4 ey enr 2

@D 4cm @ 5cm ® 7cm @ 8cm ® 12cm



11 [ Jore] ggre 42 vhas & 22 1240,

(1) 605cm = |m
(2) 3km 350m =[_|km

@ (1) 605 (2) 3350 @ (1) 6.05 (2) 3.035
® (1) 6.05 (2) 3.35 @ (1) 6.5 (2) 3.305
® (1) 6.5 (2) 3.35



12.

(1) 6.004 - 5.15

(2) 17.457 — 4.163

@ (1) 0.841 (2) 13.284
® (1) 0.851 (2) 13.284

® (1) 0.854 (2) 13.284

@ (1) 0.844 (2) 13.294

@ (1) 0.854 (2) 13.294




13. o=%F

@

@ ® 0 ©

3 o] uhF B

% Aperelze] dhat AL ol 214

= o] upZ B zbo] 7|7} 2o

Aol 7 0] 74 7Lt
o)zt &yt
Y o] Zol7h a4t ek,

Sh #ro] mpz= B vo] eIt

1o

|

o]-/\] Q.






Art 37t 22 AR EH A2 7128 2 AS A2AL,

@ 2.68 +2.576 © 094 +4.17

© 6.213 -1.865 ® 8-2111

® 9-0-6-@ 2@ 0-0-6-© ® ©-0-6-@
@ ©-0O-0-@ B ©-0O-@-O)




